CSE548 Quiz 2017-08-30
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w f(n) = O(g(n)) f(n) = Q(g(n))

(a) (b) (c)

O(g(n)) = { f(n) : there exist positive constants cy, ¢, and ng such that
0 <cig(n) < f(n) <cyg(n) foralln > ng} !

O(g(n)) = {f(n) : there exist positive constants ¢ and nq such that
0< f(n)<cg(n)foralln = ny}.

(g(n)) = { f(n) : there exist positive constants ¢ and ng such that
0<cgn)=< f(n)foralln = ny}.

Fill in the blank with appropriate functions .

A. D. F.
B E. G
C.

In Class Problems

3.1-2

Show that for any real constants @ and b, where b > 0,

(n+a) =0m>).



